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	1
	Gross domestic product measures two things at once:
	

	A)
	the total spending of everyone in the economy and the total saving of everyone in the economy.
	

	B)
	the total income of everyone in the economy and the total expenditure on the economy's output of goods and services.
	+

	C)
	the value of the economy's output of goods and services for domestic citizens and the value of the economy's output of goods and services for the rest of the world.
	

	D)
	the total income of households in the economy and the total profit of firms in the economy.
	

	E)
	the total loss of households in the economy and the total profit of firms in the economy.
	

	2
	For an economy as a whole, income must equal expenditure because
	

	A)
	the number of firms is equal to the number of households in an economy.
	

	B)
	international law requires that income equal expenditure.
	

	C)
	every dollar of spending by some buyer is a dollar of income for some seller.
	+

	D)
	every dollar of saving by some consumer is not a dollar of spending by some other consumer.
	

	E)
	every dollar of saving by some consumer is a dollar of spending by some other consumer.
	

	3
	If an economy’s GDP falls, then it must be the case that the economy’s
	

	A)
	income falls and saving rises.
	

	B)
	income and saving both fall.
	

	C)
	income falls and expenditure rises.
	

	D)
	expenditure rises 
	

	E)
	income and expenditure both fall.
	+

	4
	In the actual economy, households
	

	A)
	spend all of their income.
	

	B)
	divide their income among spending, taxes, and saving.
	+

	C)
	buy all goods and services produced in the economy.
	

	D)
	Both (a) and (c) are correct.
	

	E)
	Both (a) and (b) are correct.
	

	5
	Gross domestic product is defined as
	

	A)
	the quantity of all final goods and services demanded within a country in a given period of time.
	

	B)
	the quantity of all final goods and services supplied within a country in a given period of time.
	

	C)
	Both (a) and (b) are correct.
	

	D)
	the market value of all final goods and services produced within a country in a given period of time.
	+

	E)
	Both (a) and (d) are correct.
	

	6
	Which of the following is not included in GDP?
	

	A)
	carrots grown in your garden and eaten by your family
	+

	B)
	carrots purchased at a farmer’s market and eaten by your family
	

	C)
	carrots purchased at a grocery store and eaten by your family
	

	D)
	More than one of the above is not included in GDP.
	

	E)
	All of the above are correct.
	

	7
	In 2007, Corny Company grows and sells $2 million worth of corn to Tasty Cereal Company, which makes corn flakes.  Tasty Cereal Company produces $6 million worth of corn flakes in 2007, with sales to households during the year of $4.5 million.  The unsold $1.5 million worth of corn flakes remains in Tasty Cereal Company’s inventory at the end of 2007. The transactions just described contribute how much to GDP for 2007?
	

	A)
	$4.5 million
	

	B)
	$16 million
	

	C)
	$6.5 million
	

	D)
	$8 million
	

	E)
	$6 million
	+

	8
	Gross domestic product includes all
	

	A)
	legal and illegal goods, but it excludes all legal and illegal services.
	

	B)
	legal and illegal goods and all legal and illegal services.
	

	C)
	legal goods and services, but it excludes illegal goods and services.

	+

	D)
	illegal goods and legal services
	

	E)
	legal and illegal goods and legal services, but it excludes illegal services.
	

	9
	Tyler and Camille both live in Oklahoma.  A new-car dealer in Oklahoma bought a new car from the manufacturer for $18,000 and sold it to Tyler for $22,000.  Later that year, Tyler sold the car to Camille for $17,000.  By how much did these transactions contribute to U.S. GDP for the year?
	

	A)
	$18,000
	

	B)
	$39,000
	

	C)
	$57,000
	

	D)
	$58,000
	

	E)
	$22,000
	+

	10
	Anna, a U.S. citizen, works only in Germany.  The value she adds to production in Germany is included
	

	A)
	in both German GDP and U.S. GDP.
	

	B)
	in German GDP, but it is not included in U.S. GDP.
	+

	C)
	in U.S. GDP, but it is not included in German GDP.
	

	D)
	in neither German GDP nor U.S. GDP.
	

	E)
	in U.S. GDP.
	

	11
	The consumer price index is used to
	

	A)
	monitor changes in the level of wholesale prices in the economy.
	

	B)
	monitor changes in the cost of living over time.
	+

	C)
	monitor changes in the labor market.
	

	D)
	monitor changes in the level of real GDP over time.
	

	E)
	monitor changes in the stock market.
	

	12
	The inflation rate is defined as the
	

	A)
	price level in an economy.
	

	B)
	change in the price level from one period to the next.
	

	C)
	percentage change in the price level from the previous period.

	+

	D)
	price level plus the price level from the previous period.
	

	E)
	price level minus the price level from the previous period.
	

	13
	If the consumer price index was 100 in the base year and 107 in the following year, then the inflation rate was
	

	A)
	1.07 percent.
	

	B)
	10.7 percent.
	

	C)
	107 percent.
	

	D)
	117 percent.
	

	E)
	7 percent.
	+

	14
	The price index was 320 in one year and 360 in the next year.  What was the inflation rate?
	

	A)
	9 percent
	

	B)
	11.1 percent
	

	C)
	12.5 percent
	+

	D)
	40 percent
	

	E)
	30 percent
	

	15
	Which of the following changes in the price index produces the greatest rate of inflation: 80 to 100, 100 to 120, or 150 to 170?
	

	A)
	80 to 100
	+

	B)
	100 to 120
	

	C)
	150 to 170
	

	D)
	150 to 160
	

	E)
	All of these changes produce the same rate of inflation.
	

	16
	The goal of the consumer price index is to measure changes in the
	

	A)
	costs of production.
	

	B)
	cost of living.
	+

	C)
	cost of taxation.
	

	D)
	relative prices of consumer goods.
	

	E)
	production of consumer goods.
	

	17
	When the relative price of a good decreases, consumers respond by buying
	

	A)
	a larger quantity of that good and a larger quantity of substitutes for that good.
	

	B)
	a larger quantity of that good and a smaller quantity of substitutes for that good.
	+

	C)
	a smaller quantity of that good and a larger quantity of substitutes for that good.
	

	D)
	a smaller quantity of that good.
	

	E)
	a smaller quantity of that good and a smaller quantity of substitutes for that good.
	

	18
	The substitution bias in the consumer price index refers to the
	

	A)
	substitution by consumers toward new goods and away from old goods.
	

	B)
	substitution by consumers toward a smaller number of high-quality goods and away from a larger number of low-quality goods.
	

	C)
	substitution by consumers toward goods that have become relatively less expensive and away from goods that have become relatively more expensive.
	+

	D)
	substitution of new prices for old prices in the CPI basket of goods and services from one year to the next.
	

	E)
	substitution by consumers toward a smaller number of high-quality goods.
	

	19
	The consumer price index was 225 in 2006 and 234 in 2007.  The nominal interest rate during this period was 6.5 percent.  What was the real interest rate during this period?
	

	A)
	2.5 percent
	+

	B)
	4.0 percent
	

	C)
	6.76 percent
	

	D)
	6.7 percent
	

	E)
	10.5 percent
	

	20
	Indexation refers to
	

	A)
	a process of adjusting the nominal interest rate so that it is equal to the real interest rate.
	

	B)
	using a law or contract to automatically correct a dollar amount for the effects of inflation.
	+

	C)
	using a law or contract to automatically correct a dollar amount for the effects of taxation. 
	

	D)
	using a price index to deflate dollar values.
	

	E)
	an adjustment made by the Bureau of Labor Statistics to the CPI so that the index is in line with the GDP deflator.
	

	21
	A nation's standard of living is best measured by its
	

	A)
	real GDP.
	

	B)
	real GDP per person.
	+

	C)
	nominal GDP.
	

	D)
	GNP.
	

	E)
	nominal GDP per person.
	

	22
	The one variable that stands out as the most significant explanation of large variations in living standards around the world is
	

	A)
	productivity.
	+

	B)
	population.
	

	C)
	preferences.
	

	D)
	locations.
	

	E)
	prices.
	

	23
	Technological knowledge
	

	A)
	is the same thing as human capital.
	

	B)
	is the same thing as natural resources.
	

	C)
	can be discovered but it can never be kept secret.
	

	D)
	is a determinant of productivity.
	+

	E)
	does not play a role in the relationship that economists call the production function.
	

	24
	The average amount of goods and services produced from each hour of a worker's time is called
	

	A)
	GDP
	

	B)
	GNP
	

	C)
	per capita GDP.
	

	D)
	productivity.
	+

	E)
	technological knowledge.
	

	25
	Which of the following is human capital?
	

	A)
	textbooks
	

	B)
	hand held power tools
	

	C)
	understanding how to repair cars
	+

	D)
	cars
	

	E)
	All of the above are correct.
	

	26
	In a market economy, we know that a resource has become scarcer when
	

	A)
	both the demand for the good and the supply of the good have increased.
	

	B)
	both the demand for the good and the supply of the good have decreased.
	

	C)
	the demand for the good has decreased.
	

	D)
	the demand for the good has increased and the supply has decreased.
	+

	E)
	the demand for the good has decreased and the supply has remained constant.
	

	27
	In a market economy, scarcity of resources is most clearly reflected in
	

	A)
	supply
	

	B)
	demand
	

	C)
	market prices.
	+

	D)
	tax.
	

	E)
	the stock of the resource.
	

	28
	An understanding of the best ways to produce goods and services is called
	

	A)
	human capital.
	

	B)
	physical capital.
	

	C)
	technology.
	+

	D)
	productivity.
	

	E)
	capital.
	

	29
	Suppose a country imposes new restrictions on how many hours people can work. If these restrictions reduce the total number of hours worked in the economy, but all other factors that determine output are held fixed, then
	

	A)
	productivity and output both rise.
	

	B)
	productivity rises and output falls.
	+

	C)
	productivity falls and output rises.
	

	D)
	productivity and output fall.
	

	E)
	productivity falls.
	

	30
	If there are diminishing returns to capital, then
	

	A)
	capital produces fewer goods as it ages.
	

	B)
	old ideas are not as useful as new ones.
	

	C)
	increases in the capital stock eventually decrease output.
	

	D)
	increases in the capital stock increase output by ever smaller amounts.
	+

	E)
	All of the above are correct.
	

	31
	Institutions that help to match one person's saving with another person's investment are collectively called the
	

	A)
	Federal Reserve system.
	

	B)
	banking system.
	

	C)
	monetary system.
	

	D)
	financial system.
	+

	E)
	commercial banks
	

	32
	Which of the following statements about the term of a bond is correct?
	

	A)
	Term refers to the various characteristics of a bond, including its interest rate and tax treatment.
	

	B)
	The term of a bond is determined entirely by its credit risk.
	

	C)
	The term of a bond is determined entirely by how much sales charge the buyer of the bond pays when he or she purchases the bond.
	

	D)
	Interest rates on long-term bonds are usually higher than interest rates on short-term bonds.
	+

	E)
	All of the above are correct.
	

	33
	The economy’s two most important financial markets are
	

	A)
	the investment market and the saving market.
	

	B)
	the bond market and the stock market.
	+

	C)
	banks and the stock market.
	

	D)
	financial markets and financial institutions.
	

	E)
	commercial banks and central bank
	

	34
	A certificate of indebtedness that specifies the obligations of the borrower to the holder is called a
	

	A)
	bond
	+

	B)
	stock
	

	C)
	mutual fund.
	

	D)
	bank
	

	E)
	All of the above are correct.
	

	35
	Long-term bonds are 
	

	A)
	riskier than short-term bonds, and so interest rates on long-term bonds are usually lower than interest rates on short-term bonds.
	

	B)
	riskier than short-term bonds, and so interest rates on long-term bonds are usually higher than interest rates on short-term bonds.
	+

	C)
	less risky than short-term bonds, and so interest rates on long-term bonds are usually lower than interest rates on short-term bonds.
	

	D)
	less risky than short-term bonds, and so interest rates on long-term bonds are usually higher than interest rates on short-term bonds.
	

	E)
	None of the above is correct.
	

	36
	Compared to short-term bonds, other things the same, long-term bonds generally have
	

	A)
	more risk and so they pay higher interest rates.
	+

	B)
	less risk and so they pay lower interest rates.
	

	C)
	less risk and so they pay higher interest rates.
	

	D)
	less risk and and they pay the same interest rate.
	

	E)
	about the same risk and so they pay about the same interest rate. 
	

	37
	The price of a stock will rise if
	

	A)
	the managers of a stock exchange decide the price should be higher.
	

	B)
	the demand for the stock rises.
	+

	C)
	the supply of the stock rises.
	

	D)
	the supply of the stock falls.
	

	E)
	None of the above are correct.
	

	38
	In a closed economy, what does (T - G) represent?
	

	A)
	national saving
	

	B)
	investment
	

	C)
	private saving
	

	D)
	net export
	

	E)
	public saving
	+

	39
	In a closed economy, what remains after paying for consumption and government purchases is
	

	A)
	national disposable income.
	

	B)
	national saving.
	+

	C)
	public saving.
	

	D)
	private saving.
	

	E)
	net export
	

	40
	Which of the following statements is correct?
	

	A)
	The total income in the economy that remains after paying for consumption and government purchases is called private saving.
	

	B)
	The sum of private saving and national saving is called public saving.
	

	C)
	For a closed economy, the sum of private saving and public saving must equal investment.
	+

	D)
	For a closed economy, the sum of consumption, national saving, and taxes must equal GDP.
	

	E)
	For a closed economy, the sum of consumption and taxes must equal GDP.
	

	41
	Which of the following expressions must be equal to national saving for a closed economy?
	

	A)
	Y - I - G - NX
	

	B)
	Y - C - G
	+

	C)
	Y - I - C
	

	D)
	Y - I 
	

	E)
	G + C - Y
	

	42
	Which of the following is correct?
	

	A)
	The amount of unemployment that a country typically experiences is a determinant of that country's standard of living, and some degree of unemployment is inevitable in a complex economy.
	+

	B)
	The amount of unemployment that a country typically experiences is a determinant of that country's standard of living, and a complex economy can achieve zero unemployment.
	

	C)
	The amount of unemployment that a country typically experiences is not a determinant of that country's standard of living, and a complex economy can achieve zero unemployment.
	

	D)
	The amount of unemployment that a country typically experiences is not a determinant of that country's standard of living.
	

	E)
	The amount of unemployment that a country typically experiences is not a determinant of that country's standard of living, and some degree of unemployment is inevitable in a complex economy.
	

	43
	The amount of unemployment that an economy normally experiences is called the
	

	A)
	average rate of unemployment.
	

	B)
	natural rate of unemployment.
	+

	C)
	rate of unemployment.
	

	D)
	cyclical rate of unemployment.
	

	E)
	typical rate of unemployment.
	

	44
	The deviation of unemployment from its natural rate is called
	

	A)
	the unnatural rate of unemployment.
	

	B)
	typical rate of unemployment.
	

	C)
	structural unemployment.
	

	D)
	frictional unemployment.
	

	E)
	cyclical unemployment.
	+

	45
	The designation "natural" implies that the natural rate of unemployment
	

	A)
	is desirable.
	

	B)
	is constant over time.
	

	C)
	is impervious to economic policy.
	

	D)
	does not go away on its own even in the long run.
	+

	E)
	None of the above is correct.
	

	46
	The sum of which of the following must be equal to the adult population?
	

	A)
	employed, unemployed
	

	B)
	employed, unemployed, labor force
	

	C)
	employed, unemployed, not in the labor force
	+

	D)
	unemployed, labor force
	

	E)
	employed, unemployed, labor force, not in the labor force
	

	47
	The labor force equals the
	

	A)
	number of people employed.
	

	B)
	number of people unemployed.
	

	C)
	number of people employed plus the number of people unemployed.
	+

	D)
	number of people employed plus adult population.
	

	E)
	adult population.
	

	48
	The unemployment rate is computed as the number of unemployed
	

	A)
	divided by the labor force, all times 100.
	+

	B)
	divided by the number of employed, all times 100.
	

	C)
	divided by the adult population, all times 100.
	

	D)
	times the labor-force participation rate, all times 100.
	

	E)
	times the adult population, all times 100.
	

	49
	Satchel loses his job and immediately begins looking for another.  Other things the same, the unemployment rate
	

	A)
	increases and the labor-force participation rate decreases.

	

	B)
	and the labor-force participation rate both increase.

	

	C)
	increases and the labor-force participation rate is unaffected.
	+

	D)
	decreases and the labor-force participation rate is unaffected.
	

	E)
	is unaffected and the labor-force participation rate decreases.
	

	50
	Suppose some country had an adult population of about 50 million, a labor-force participation rate of 60 percent, and an unemployment rate of 5 percent.  How many people were unemployed?
	

	A)
	1.425 million
	

	B)
	1.5 million
	+

	C)
	2.5 million
	

	D)
	3.5 million
	

	E)
	5 million
	

	51
	If the reserve ratio is 5 percent, then the money multiplier is
	

	A)
	25
	

	B)
	20
	+

	C)
	2.5
	

	D)
	1.25
	

	E)
	3.5
	

	52
	When prices are falling, economists say that there is
	

	A)
	disinflation
	

	B)
	deflation
	+

	C)
	a contraction.
	

	D)
	an inverted inflation.
	

	E)
	None of the above is correct.
	

	53
	The term hyperinflation refers to
	

	A)
	the spread of inflation from one country to others.
	

	B)
	a decrease in the inflation rate.
	

	C)
	a period of very high inflation.
	+

	D)
	inflation accompanied by a recession.
	

	E)
	an inverted inflation.
	

	54
	With the value of money on the vertical axis, the money supply curve is
	

	A)
	upward-sloping.
	

	B)
	downward-sloping.
	

	C)
	horizontal
	

	D)
	vertical.
	+

	E)
	None of the above is correct.
	

	55
	The price level falls if either
	

	A)
	money demand or money supply shifts rightward.
	

	B)
	money demand shifts rightward or money supply shifts leftward.
	+

	C)
	money demand shifts leftward or money supply shifts rightward.
	

	D)
	money demand or money supply shifts leftward.
	

	E)
	money demand and money supply shifts rightward.
	

	56
	As the price level rises, the value of money
	

	A)
	falls, and people desire to hold less of it.
	

	B)
	falls, and people desire to hold more of it.
	+

	C)
	rises, and people desire to hold less of it.
	

	D)
	rises.
	

	E)
	rises, and people desire to hold more of it.
	

	57
	Money demand depends on
	

	A)
	the price level and the interest rate.
	+

	B)
	the price level but not the interest rate.
	

	C)
	the interest rate but not the price level.
	

	D)
	neither the price level nor the interest rate.
	

	E)
	None of the above is correct.
	

	58
	According to the quantity theory of money, a 2 percent increase in the money supply
	

	A)
	causes the price level to fall by 2 percent.
	

	B)
	causes the price level to fall by 4 percent.
	

	C)
	leaves the price level unchanged.
	

	D)
	causes the price level to rise by less than 2 percent.
	

	E)
	causes the price level to rise by 2 percent.
	+

	59
	If the nominal interest rate is 8 percent and expected inflation is 3.5 percent, then what is the real interest rate?
	

	A)
	11.5 percent
	

	B)
	7.5 percent
	

	C)
	4.5 percent
	+

	D)
	2.5 percent
	

	E)
	5.5 percent
	

	60
	To explain the long-run determinants of the price level and the inflation rate, most economists today rely on the
	

	A)
	quantity theory of money.
	+

	B)
	price-index theory of money.
	

	C)
	theory of hyperinflation.
	

	D)
	CPI
	

	E)
	disequilibrium theory of money and inflation.
	

	61
	When the money market is drawn with the value of money on the vertical axis, as the price level increases the quantity of money
	

	A)
	demanded increases.
	+

	B)
	demanded decreases.
	

	C)
	supplied increases.
	

	D)
	supplied decreases.
	

	E)
	None of the above is correct.
	

	62
	When the money market is drawn with the value of money on the vertical axis, long-run equilibrium is obtained when the quantity demanded and quantity supplied of money are equal due to adjustments in
	

	A)
	the value of money.
	+

	B)
	real interest rates.
	

	C)
	nominal interest rates.
	

	D)
	the money supply.
	

	E)
	the money demand.
	

	63
	When the money market is drawn with the value of money on the vertical axis, if the value of money is below the equilibrium level,
	

	A)
	the price level will rise.

	

	B)
	the value of money will rise.
	+

	C)
	money demand will shift leftward.
	

	D)
	money demand will shift rightward.
	

	E)
	the price level will remain unchanged.

	

	64
	When the money market is drawn with the value of money on the vertical axis, the price level increases if
	

	A)
	either money demand or money supply shifts right.
	

	B)
	either money demand or money supply shifts left.

	

	C)
	money demand shifts right or money supply shifts left.
	

	D)
	money demand shifts left or money supply shifts right.
	+

	E)
	Both (a) and (d) are correct.
	

	65
	Figure 1.
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Refer to Figure 1, if the money supply is MS2 and the value of money is 2, then
	

	A)
	the value of money is lower than its equilibrium level.
	

	B)
	the price level is higher than its equilibrium level.
	

	C)
	the quantity of money demanded is greater than the quantity of money supplied.
	

	D)
	the quantity of money supplied is greater than the quantity of money demanded.
	+

	E)
	None of the above is correct.
	

	66
	Suppose the price level rises, but the number of dollars you are paid per hour stays the same.  This means that your
	

	A)
	nominal wage is higher.
	

	B)
	nominal wage is lower.
	

	C)
	nominal wage is constant.
	

	D)
	real wage is higher.
	

	E)
	real wage is lower.
	+

	67
	Interest rates adjusted for the effects of inflation
	

	A)
	and inflation are nominal variables.
	

	B)
	and inflation are real variables.
	

	C)
	are real variables; inflation is a nominal variable.
	+

	D)
	are nominal variables.
	

	E)
	are nominal variables; inflation is a real variable.
	

	68
	Which of the following is correct?
	

	A)
	NCO = NX
	+

	B)
	NCO + I = NX
	

	C)
	NX + NCO = Y
	

	D)
	NX = Y
	

	E)
	Y = NCO - I
	

	69
	If a country exports more than it imports, then it has
	

	A)
	positive net exports and positive net capital outflows.
	+

	B)
	positive net exports and negative net capital outflows.
	

	C)
	negative net exports and positive net capital outflows.
	

	D)
	negative net exports.
	

	E)
	negative net exports and negative net capital outflows.
	

	70
	Which of the following statements is incorrect for an open economy?
	

	A)
	A country can have a trade deficit, trade surplus, or balanced trade.
	

	B)
	A country that has a trade deficit has positive net capital outflow.
	+

	C)
	Net exports must equal net capital outflow.
	

	D)
	National saving equals domestic investment plus net capital outflow.
	

	E)
	None of the above is correct.
	

	71
	An open economy's GDP is always given by
	

	A)
	Y = C + I + G.
	

	B)
	Y = C + I + G + T.
	

	C)
	Y = C + I + G + S.
	

	D)
	Y = C + I + G.
	

	E)
	Y = C + I + G + NX.
	+

	72
	If a country has Y > C + I + G, then it has
	

	A)
	positive net capital outflow and positive net exports.
	+

	B)
	positive net capital outflow and negative net exports.
	

	C)
	negative net capital outflow and positive net exports.
	

	D)
	negative net capital outflow.
	

	E)
	negative net capital outflow and negative net exports.
	

	73
	Domestic saving must equal domestic investment in
	

	A)
	both closed and open economies.
	

	B)
	closed, but not open economies.
	+

	C)
	open, but not closed economies.
	

	D)
	neither closed nor open economies.
	

	E)
	None of the above is correct.
	

	74
	If there is a trade deficit, then
	

	A)
	saving is greater than domestic investment and Y > C + I + G.
	

	B)
	saving is greater than domestic investment and Y < C + I + G.
	

	C)
	saving is less than domestic investment and Y > C +I + G.
	

	D)
	saving is less than domestic investment and Y < C + I + G.
	+

	E)
	saving is less than domestic investment and Y > C + I.
	

	75
	If a country has positive net capital outflows, then its net exports are
	

	A)
	positive, and its saving is larger than its domestic investment.
	+

	B)
	positive, and its saving is smaller than its domestic investment.
	

	C)
	negative, and its saving is larger than its domestic investment.
	

	D)
	negative.
	

	E)
	negative, and its saving is smaller than its domestic investment.
	

	76
	During a recession the economy experiences
	

	A)
	rising employment and income.
	

	B)
	rising employment and falling income.
	

	C)
	rising income and falling employment.
	

	D)
	falling employment and income.
	+

	E)
	All of the above are correct.
	

	77
	During recessions
	

	A)
	sales and profits fall.
	+

	B)
	sales and profits rise.
	

	C)
	sales rise, profits fall.
	

	D)
	profits fall, sales rise.
	

	E)
	None of the above is correct.
	

	78
	Which part of real GDP fluctuates most over the course of the business cycle?
	

	A)
	consumption expenditures
	

	B)
	government expenditures
	

	C)
	investment expenditures
	+

	D)
	net exports
	

	E)
	taxes
	

	79
	According to classical macroeconomic theory, changes in the money supply affect
	

	A)
	real GDP and the price level.
	

	B)
	real GDP but not the price level.
	

	C)
	the price level, but not real GDP.
	+

	D)
	neither the price level nor real GDP.
	

	E)
	None of the above is correct.
	

	80
	The average price level is measured by
	

	A)
	any real variable.
	

	B)
	the rate of inflation.
	

	C)
	the rate of deflation.
	

	D)
	the level of the money supply.
	

	E)
	the CPI or the GDP deflator.
	+

	81
	The aggregate-demand curve shows the
	

	A)
	quantity of labor and other inputs that firms want to buy at each price level.
	

	B)
	quantity of labor and other inputs that firms want to buy at each inflation rate.
	

	C)
	quantity of domestically produced goods and services that households want to buy at each price level.
	

	D)
	quantity of domestically produced goods and services that households, firms, the government, and customers abroad want to buy at each price level.
	+

	E)
	quantity of labor and other inputs that firms want to buy at each deflation rate.
	

	82
	The model of aggregate demand and aggregate supply explains the relationship between
	

	A)
	the price and quantity of a particular good.
	

	B)
	unemployment and output.
	

	C)
	unemployment and inflation.
	

	D)
	wages and employment.
	

	E)
	real GDP and the price level.
	+

	83
	The model of aggregate demand and aggregate supply
	

	A)
	is different from the model of supply and demand for a particular market, in that we cannot focus on the substitution of resources between markets to explain aggregate relationships.
	+

	B)
	is different from the model of supply and demand for a particular market, in that we have to separate real and nominal variables in the aggregate model.
	

	C)
	is a straightforward extension of the model of supply and demand for a particular market, in which substitution of resources between markets is highlighted.
	

	D)
	is a straightforward extension of the model of supply and demand for a particular market, in which the interaction between real and nominal variables is highlighted.
	

	E)
	None of the above is correct.
	

	84
	The wealth effect, interest-rate effect, and exchange-rate effect are all explanations for
	

	A)
	the slope of short-run aggregate supply.
	

	B)
	the slope of long-run aggregate supply.
	

	C)
	the slope of the aggregate-supply curve.
	

	D)
	the slope of the aggregate-demand curve.
	+

	E)
	everything that makes the aggregate-demand curve shift.
	

	85
	As the price level rises
	

	A)
	people will want to buy more bonds, so the interest rate rises.
	

	B)
	people will want to buy fewer bonds, so the interest rate falls.
	

	C)
	people will want to buy more bonds, so the interest rate falls.
	

	D)
	people will want to buy fewer bonds, so the interest rate rises.
	+

	E)
	None of the above is correct.
	

	86
	Other things the same, when the price level falls, interest rates
	

	A)
	rise, so firms increase investment.
	

	B)
	rise, so firms decrease investment.
	

	C)
	fall, so firms increase investment.
	+

	D)
	fall, so firms decrease investment.
	

	E)
	remain unchanged.
	

	87
	When the dollar appreciates, U.S.
	

	A)
	exports decrease, while imports increase.
	+

	B)
	exports and imports decrease.
	

	C)
	exports and imports increase.
	

	D)
	exports increase, while imports decrease.
	

	E)
	None of the above is correct.
	

	88
	An increase in the interest rate causes investment to
	

	A)
	rise and the exchange rate to appreciate.
	

	B)
	fall and the exchange rate to depreciate.
	

	C)
	rise and the exchange rate to depreciate.
	

	D)
	rise.
	

	E)
	fall and the exchange rate to appreciate.
	+

	89
	Figure 2.  
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Refer to Figure 2.  The appearance of the long-run aggregate-supply (LRAS) curve
	

	A)
	is inconsistent with the concept of monetary neutrality.
	

	B)
	is consistent with the idea that point A represents a long-run equilibrium but not a short-run equilibrium when the relevant short-run aggregate-supply curve is AS1.
	

	C)
	indicates that Y1 is the natural rate of output.
	+

	D)
	indicates that P1 is the natural rate of output.
	

	E)
	All of the above are correct.
	

	90
	According to John Maynard Keynes,
	

	A)
	the demand for money in a country is determined entirely by that nation’s central bank.
	

	B)
	the supply of money in a country is determined by the overall wealth of the citizens of that country.
	

	C)
	the interest rate adjusts to balance the supply of, and demand for, money.
	+

	D)
	Both (a) and (b) are correct.
	

	E)
	the interest rate adjusts to balance the supply of, and demand for, goods and services.
	

	91
	The theory of liquidity preference is most helpful in understanding
	

	A)
	the wealth effect.
	

	B)
	the exchange-rate effect.
	

	C)
	the interest-rate effect.
	+

	D)
	misperceptions theory.
	

	E)
	None of the above is correct.
	

	92
	Liquidity refers to
	

	A)
	the relation between the price and interest rate of an asset.
	

	B)
	the risk of an asset relative to its selling price.
	

	C)
	the ease with which an asset is converted into a medium of exchange.
	+

	D)
	the sensitivity of investment spending to changes in the interest rate.
	

	E)
	Both (a) and (c) are correct.
	

	93
	According to liquidity preference theory,
	

	A)
	an increase in the interest rate reduces the quantity of money demanded. This is shown as a movement along the money-demand curve. An increase in the price level shifts money demand to the right.
	+

	B)
	an increase in the interest rate increases the quantity of money demanded. This is shown as a movement along the money-demand curve. An increase in the price level shifts money demand leftward.
	

	C)
	an increase in the price level reduces the quantity of money demanded. This is shown as a movement along the money-demand curve. An increase in the interest rate shifts money demand rightward.
	

	D)
	an decrease in the price level increases the quantity of money demanded. This is shown as a movement along the money-demand curve. An increase in the interest rate shifts money demand leftward.
	

	E)
	an increase in the price level increases the quantity of money demanded. This is shown as a movement along the money-demand curve. An increase in the interest rate shifts money demand leftward.
	

	94
	If there is excess money supply, people will
	

	A)
	deposit more into interest-bearing accounts, and the interest rate will fall.
	+

	B)
	deposit more into interest-bearing accounts, and the interest rate will rise.
	

	C)
	withdraw money from interest-bearing accounts, and the interest rate will fall.
	

	D)
	withdraw money from interest-bearing accounts.
	

	E)
	withdraw money from interest-bearing accounts, and the interest rate will rise.
	

	95
	There is a
	

	A)
	short-run tradeoff between inflation and unemployment.
	+

	B)
	short-run tradeoff between the actual unemployment rate and the natural rate of unemployment.
	

	C)
	long-run tradeoff between inflation and unemployment.
	

	D)
	long-run tradeoff between inflation and output.
	

	E)
	long-run tradeoff between the actual unemployment rate and the natural rate of unemployment.
	

	96
	If policymakers increase aggregate demand, then in the short run the price level
	

	A)
	falls and unemployment rises.
	

	B)
	and unemployment fall.
	

	C)
	and unemployment rise.
	

	D)
	rises and unemployment falls.
	+

	E)
	None of the above is correct.
	

	97
	If a central bank increases the money supply, then
	

	A)
	prices, output, and unemployment rise.
	

	B)
	prices and output rise and unemployment falls.
	+

	C)
	prices rise and output and unemployment fall.
	

	D)
	prices fall and output and unemployment rise.
	

	E)
	Both (a) and (c) are correct.
	

	98
	If the minimum wage increased, then at any given rate of inflation
	

	A)
	both output and employment would be higher.
	

	B)
	neither output nor employment would be higher.
	

	C)
	output would be higher and unemployment would be lower.
	

	D)
	output would be lower and unemployment would be higher.
	+

	E)
	None of the above is correct.
	

	99
	If the long-run Phillips curve shifts to the right, then for any given rate of money growth and inflation the economy has
	

	A)
	higher unemployment and lower output.
	+

	B)
	higher unemployment and higher output.
	

	C)
	lower unemployment and lower output.
	

	D)
	lower unemployment.
	

	E)
	lower unemployment and higher output.
	

	100
	If the unemployment rate rises, which policies would be appropriate to reduce it?
	

	A)
	increase the money supply, increase taxes
	

	B)
	increase the money supply, cut taxes
	+

	C)
	decrease the money supply, increase taxes
	

	D)
	decrease the money supply
	

	E)
	decrease the money supply, cut taxes
	


